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Introduction to cost accounting
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Objectives of
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Determine the cost of the unit produced or service: 332l gl dagia) aa gl 43K5 yaa3 ]
Control costs sl e 4650 2
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Help in making a pricing decision for producty and services:

Rationalize administrative decisions Ayl il dl s 5 4
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Example:Ahmed compan iry i

: pany has for the dairy industry to buy (20

. . g ' 0 i

bags at a price of (5,000 D / kg.) The company used (60yk:;) inktgh) i

manufacturing process and during the month it shows that there is the"!a'dwege
s mount

of (25 kg) stale.Required :Determine the cost and expense, loss?
SOL: Cost=200x5000=1.000.000D
Expense=35x5000=175000D

Loss=25x5000=125000D

cept of cost accounting? What are the objectives?.
ting, financial accounting?.

cost__ accounting— -management

1. What is the con
2 What are the relationship between cost accoun
3 What . are —the - —relationship-- between

accounting?
ing and Financial Accounting?.

4 What are the Difference between Cost Account
5.Explain differences between cost accounting and financial Accounting ?.

6. What is the concept of cost and what are 1ts characteristics?.

7 Distinguish between the following costs :

A: Actual cost, Standard cost. B: Total cost, Marginal cost
C: Exhausted cost, unexhausted cost D: Sunk cost, Opportunity COSS.
nversion cost F- direct , indirect costs.

E: prime cost, Product cost, Co
8. Explain differences betwee

1 Cost, Expense, and Loss.
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Cost elements classification according to natural
material cost 3sa) 4S5 juaic |

Labor cost Ja)) 4S5 yaic -
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(;manufacturing

:manufacturing Lelia Ly aa &
Rent c'hAA-“ sl e
Depreciation ) <YV il e
Equipment pinaall (Sl o
g Insurance on factory equipment nad) YIS Slall e ouatdll e
Repairs giadl ey <Yl Sl el @
Power giadldS mdl sdll o
Lighting gadldsbayl o
heating 83 o
.marketing ks cy uaa <&
distribution gludl @) sl Sasi e
Rent for office @l ciSe Jladl
Advertising 0>= 13 & Al G e
Storing gaU (u sl jbas
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. Adminstartive &)W iy s o
iyl ‘.Lufﬂ gl e
a Hlayl ?Luﬁ\'l il Bl e
aaal g gall Bl @




tAgaan )l £ g peiall Ciilhs 5, Lyiidle A .
; g b palie Gy i 2
Cost elements classification according to functions
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Cost elements classification according to nature:

Direct costs y5a G\ -]

Indirect costs 3 y5ha s S -2
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sas g Jal e Lapad i yual Al U 350 aaen sle(Direct COSts) B pilia) CANSI)) Jaids g
Jadiy,  Sleill miiall
(D.m) (' Direct materials) 5 yilsall o) gall -]

(D.m) (Direct labor )3 yilus Hsa¥! -2
(D.exp) (Direct expenses) 3 silaall iy juadll -3

| Fabric in the garment industry ol delia bzl : Jia
Wood in the furniture industry GBY delin b uldll
Workers' wages Jaall ;ga

8 ilia 3 ) g Ly 5 ameay AN il 3 g e JalS (Tndirect costs ) b odlaad) e CiSE L
O OS]y ¢ s U Baa g Jab e o pai Y AN il 353 e 5 5le Ll gl il Ziall Sas
W 2a ) < 1 -Li
(& 2 0 O 2
wages ¢« fuelsa ) ¢ spare parts e adad ¢ oil 29350l JUia | JSS & g 30l K e e Ao gana
Y ) sal) supervisors

Q:Between whether the following elements of(Direct cost or Indirect cost).

Workers' wages

spare parts

Wood in the furniture industry
Fabric in the garment industry

LA aaan LB ca AWK jalic cugd 4

Cost elements classification according to behavior:

wa&ﬁd’h&d\y@\ﬁﬁn G e il palic ansi

Explain the difference between variable and fixed costs.

3ol 58 Ll aas 8 il e Lyl 5T Al a5l e 3 ke (8 9 1 varinble cost 3 sE5ad S ]
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Example: In one of the industrial companies, the production of one unit of product Q
needs to beA at a cost of 10 D.. The following table shows the cost of material A

according to the size of production in the company:

Q V.C TVC
Unit 1000 10D 10000D
Unit 2000 10D 20000D
Unit 3000 10D 30000D

10



( 30000« 20000« 10000) Ll pas 535 aa o yha 3T 5 puaiall Caial) st 1
(10 D) <ulis paiall Cagdlsill e 3aa) gl 52 gl cageai 2

3.Total Variable Cost = Total Quantity of Output x Variable Cost Per Unit of
Output.

TVC=Q XVC

4.Variable Cost Per Unit of Output=. Total Variable Cost /Total Quantity of
Output

VC=TVC/Q
% 100 = BLA axa B sl M) 5 piiall Gl 85 i 5
+_adal) CillSa)) o AL
lubricants, sales commission and shipping costs. Material Consumed, Wages,
Packing Expenses.

Example: A mobile phone manufacturing company purchases speakers from another company at a cost of 52
per speaker. The speaker is a direct materials cost for mobile phone manufacturing company. One speaker is
used to complete a mobile phone. The total and per unit cost of speakers at various levels of activity is given

below:

Sol:

P HUY
iy
£
e Sou
&
= 400
g ao0u
=3
8
L 200
w

300 $200 | 0 0

350 { 520(!"  JR MSZ’Q_G A s Lue 150 1) 250 300

Nuber of mobile phones pi o [T

30 5as ol AAIS (8 Apdial ALY i) ggd) ©ala ) LalS 21335 e lall llaay) Adlssl Qiﬁ;‘\l:

el Ch e g gana o 0285 092 i Ll agill 0 ke Ay ¢ fived cost A0 B2
L)p),;nq.,_‘.c oladl iy fixed cost A ol oy Baa gl canad OIS (g ¢ Ll (_;;{JE._J!
i Relevant range o>kl (saall Gaa Ll aas
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For example, the cost of rent is 30000 $ in one of the industrial companies that
produce the product. The following table shows the share of units produced from the

cost of rent:

Q sAFC _TFC
Unit 1000 30D 30000D
Unit2000 15D 30000D
Unit3000 10D 30000D

- b WS fixed cost ) lSH pailad a3 CSay @lud) J gaadl s

. (30000 ) BL paa i il e DI iy LB TN I ) 1
M‘kw‘eféﬂg—-&eﬁ\&ﬂ fixed costtl) IS padaa gl cuai 2
,s_u,u(m]))humte;.gjgumJs’gn;,l\g?as,(so]))hmc\he;&gum.u_jgs.b,n
&

Total Fixed Cost

Average e
Fixed Cost Total Number of Units Made 4
0 = LU aasn 5 ) i Ly (5 el 2l 5 gaa 3 A4 S fived cost W) lsS 5

%

Al Callsill e AR

Depreciation, Rent, Salary, Insurance, Tax, Advertising, etc.

mpany rents a building for its factory for $5,000 per

In above example, if mobile phone manufacturing co
h even no mobile phone is produced during the

month, it will have to pay $5,000 for every mont
month .The behavior of fixed is shown in the following figure:

$5,000 1 s, -

$5.000 50 $5.00050=5100 | & .,

$5,000 100 $5.000/100=850 | % . .,

$5.000 150 $5.000150=53333 | & 0

$5000 200 §5.000200=525 | % | 4o .

$5.000 250 $5.000/250 = $20 b R
$5.000 300 $5,000/300 = $16.67 | wmber of mobile phonas produced

Q/ Between whether the following elements of(Fixed cost or variable cost).

& Salescommission

« Salary
« Insurance

4 Packing Expenses
+ Depreciation

e ]
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Q1: Define cost object and give three examples? *

Q2:What is the cost center concept?.
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disadvantages of Absorption or Full - costing  ;( Laied) ) 4,0en Zatess e
Aatiall haa gl e 58l e il palie Jpaad y dlail bl Qi) a0 & gaas - |
Spanil o3 Leasiinall (b ylall DRy, puadlll) ill uiad Rasiiunall Juny) o ) ALyl

Asiall das gl ST yaa3 GRS ) oy

Aaiiall s ol A5 yaat Of G ¢ )N SASY L 3 Al LI B oY) ae L3 4 il L5 )
gl i) 8 daiaia AR () 5S35 Ly ¢ Aaiial Apasl) ALl | plai Sl B f 6 Aail yo () 55
§ L)y ) ARl da gl (U Slassolaih e oy Y 130 g ¢ Apiiall A peSl Al
R AL BN P

e e JE M ga50 15 5 AN ClE (e e da Qe b g dllea ) ClSEL (5 0l w585 o5 -3
o gl I s e i play 108 g ALl B 50 ) A0S0 5 5 e A0H i<l (s
g ol 5yl Aala Lie ) Call<s o A3 G o el Luladl

Y IS A a1 A5y Ll el e Callall Al slaet (Say

sduaiaal) gf Ldlaay! 48y jhl) Gulaal o Ciflsil) daitd

Costs statement - beast on absorption costing - or full costing:

Details Amounts | Amounts | Amounts
Cost of goods sold: -
Direct Materials XXX
Direct Labors XXX
Prim cost XXX
Add beginning w.in.P
Factory overhead cost: XXX
Variable XXX
Fixed XXX
(XXX)
Less ending w.in.P XXX
Manufacture cost (Finished Goods) XXX
Add beginning finished goods XXX
Cost of goods available for sale _XXX
Less ending finished goods (XX)
Cost of goods Sold XXX
Add marketing Costs: XXX
Variable XXX
Fixed XXXX
Total Cost of sales

Income statement :-
15



Sales

Less : Cost of goods sold
Gross Profit ( or Loss)

Less : Marketing & Administrative cost
Operating income ( Loss)

XXXXX
( XXXX)
XXX
(XXX)
XXX

Ex1: The following data, for the records of one of the industrial companies, for

September 2016.

-Variable cost per unit;
*Direct materials ...... $ 750
* Direct Labors ... ... $450

*Variable FO.H ... $300
*Variable marketing cost .... $300
- Monthly fixed costs:

*F.O.H ....350.000%

*Management 1.500.000%

- Selling price per unit ..... 4200 $

*Marketing 290.0008

- Number of Units produced and Sold ... 1200 units

- work in process begin 2.000.000
-work in process ending 1.600.000
- finished goods begin 1.800.000
- finished goods ending 1.500.000

Required: Prepare A list costs & Income Statement in accordance with

absorption costing(full costing).

16



List Costs statement in according with absorption costing - or full costing:

Details ; Amounts Amounts
Cost of goods sold:
Direct Materials(750x1200) 900000
Direct labor(450x1200) 540000
Prim cost 1440000
Factory Overhead cost 710000
Fixed 350000
Variable (300x1200) 360000
=Manufacture cost 2150000
Add Work in Process Inventory begin. 2000000
Less Work in Process Inventory end (1600000)
cost of goods manufactured 2550000
Add Finished goods Inventory —Begin 1800000
= Cost of goods available for sale 4350000
Less Finished goods Inventory —end (1500000)
= Costs of goods sold 2850000
Add marketing Costs: - ) i R ﬁ*650000 B
Variable (300x1200) 360000
Fixed 290000
Total Cost of sales ' j S b T 3500000
Income statement:
Sales 4200x1200 5.040.000
Less:  Costs of goods sold (2850000)
Gross Profit or Gross Loss 2190.000
Less:
marketing Costs ( 650000)
Management cost (1500.000)
Operating income ( Loss) 40.000

[.x 2:Using the following data for April, calculate the cost of goods manufactured:
Direct POABTIBLE o v iomanis s v 530 55 a5 s 5 ks i s o 923,000
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Direct labor ..

i S ..., $21,000
M1111|fact11r||1g ovelhead AR LRI by 140 vos sanvenans bee oD 14000
Beginning work in plOLbbb mvu\lo:y... a wvs sasnsvnssas ves ror o3 13,000
Ending work in process inventory ........................... $18.000
The cost of goods manufactured was:

A) $81,000.

B) $76,000.

C) $94,000.

D) $86,000.

Ex 3: The following data extracted from the records for one of the companies, for
the manufacture electric heaters, for September 2020 :

1- Variable cost per unit for the months of August and September:-

¢ Direct materials .... $15, per unit

e DirectLabor$ ... 7,5 per unit

e Variable F.O.H cost ... $6, per unit

e Variable marketing ... $3, per unit
1- Fixed costs:

e Fixed F.O.H costs ... $5,500,) .

o “Marketing and Administrative costs ... $7,137.
2- Available data about units :

e Finished goods produced during the month ... (1000) units

e Beginning Finished goods .... (100) units

¢ Ending Finished goods ... (75) units

e Selling price per unit ....$500 .

Required : Prepare Income Statement - beast on absorption costing

' ‘ Variable Costing method 5 ziiall 441 45,02

3 il CallSall pualic e Lgnaly Ll u'l_\;_,d.u;_ig‘ q_v_)_-;.“ Jraaiill wb‘éo‘a_,&ﬁ
M)MY\C_:LNMUUJGJAAJWJJ‘MJJJMLSJ m‘MLﬂ'JhJG‘JcM
(Jad

advantages Variable Costing method
18
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Cost Statement - based on the va riable costing or Direct costing

Details Amount Amounts | Amounts

Variable cost of goods sold:

Variable direct materials XXX

Variable direct Labors XXX

Prime cost: XXXX

Variable Factory overhead _XXX

Add beginning W.in.P XXX

Less ending W.in.P (XXX)
Manufacture cost (Finished Goods ) XXXX

Add beginning Finished goods XXX

Variable Cost of goods available for sale XXXX

Less ending Finished goods XXX

Variable Cost of goods Sold XXX

Add variable marketing Costs XXX

Variable Cost of sales XXXX
L.
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Income statement

Sales ( or Revenues)

Less: Variable Cost of sales
Contribution Margin

Less : Fixed manufacturing overhead

Operating income

Marketing &administrative costs

XXXX
( XXX)
XXX
(XXX)
(XXX)
XXX

EX.3: Use The information in Examble.1 prepare Income Statement - based on the

variable costing or Direct costing .

Solution

Cost statement beast on variable cost

Details Amount Amounts Amounts
Variable Cost of goods Sold:
Direct materials (750x1,200) 9,00,000
Direct Labors (450x1200) 540,000
"I Prime Cost 360000 | H s

Variable Factory overhead (1200x300) 1,800,000
Add beginning W.IN.P 00
Less ending W.IN.P (00)
Manufacture Cost (Finished Goods ) 1,800,000
Add beginning Finished goods 00
Variable Cost of goods available for sale 1,800,000
Less ending Finished goods -{00)
Variable Cost of goods Sold 1,800,000
Add variable marketing Costs (300x1200) 360,000
Variable Cost of sales 2.160,000
Income statement:- *

Details Amounts

Sales (4200 x 1200) $ 5040000

Less Cost of goods sold S (1800000)

Contribution Margin $ 3240,000
Less fixed costs :-

Manufacturing costs S 350,000

20




Marketing $ 290,000
administrative $1500,000
Operating income. $1.100 000
\
N Q4:The following data, from the records of one of the industrial companies, for
3 September 2011.

1- Vanable cost per unit:
Direct materials ...... $ 650

Direct Labors ...... $250
Vanable FOH ... $200
Vanable marketing cost .... $200

2- Monthly fixed costs:

F.O.H .... 2,500,000%

Marketing & mangement ... .. $2,000,000.

3- Selling price per unit ... 6000 $
- -4- Number of Units produced 1800 units

S-Number of Units Sold 1600 units

5- work in process (beginning and ending ) =00

6- finished goods ( beginning and ending) =00

Required: Prepare Income Statement in accordance with absorption costing(full
costing). and Variable Costing method.

P
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Control element costs
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Materials control XXX

Account payable control  xxx  (on account)

Or Bank /cash XXX
A gllaal Cilial gall LgTiias axe Alla 3 Sgaall of gall Bole e sl pSay -2
iz WU 3 pdle o) sall oy 2 -3

AT sty gl el sy O ey ol el alls aTinie oy Tl AL 878 o g4 e et
: Gl Al UL o 56 CRlSE 5 )l aud G i aall Z1 AN

|
!

|

§

§

3!

:

§

i
3

Work in process control  xxx
Materials Control XXX
et il ey dAalall e Lailh o) Clial gall AiUae 8 L 5SE 5 Haall ol gall salef die o

Materials control XXX
Work in process control  xxx

:5)\:'1..11\_);': Ngas pa—4
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Manufacturing overhead control ( Actual) xxx

Materials control XXX

el 3l ey ) jaall N3 ke pall o gall 33lef ie 35
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Work in process control ( department - A)  xxx

Work in process control ( department = B)  xxx

First in First out method (FIFO) N9 L uas Y gl 3 ke 43,0 ]

Lal ‘d_)iA.u Q.LAJ aala \.a.\ﬂ'y Z-C—_,SJA.“ JLL&UYL‘ Jl.uﬁ B_).JLAA." J‘}n.“ ul.l L}a)ﬁ!s 3 Lg:l.bl.u.u :‘.ﬂg)l:." PRTY )EAS
(oNe pru A1) 4 Gl o s AL O3S 0 33l ) gl G el g an sl 3 )l

Ex1: This example is based on the following transactions: February
(1)Beginning balance: 800 units (@ $6 per unit.

(4)Received 200 units (@ $7 per unit.

(10)Received 200 units @ 38 per unit.

(11)Issued 800 units.

(12)Received 400 units @ $8 per unit.

(20)Issued 300 units.

(25)Returned 100 excess units from the factory to the storeroom 10 be recorded at the

latest issued price.

 (28)Received 600 units @ 89 perunit. . o

R)prepare the cost of materials and cost assigned to the inventory at the end of the
month using (FiFo method).

Stores Ledger Account- FIFO

Received Issued Balance

e Quantity IH'I:::: Amount | Quantity }E‘:‘?c'z Amout | Quantity lyr':c“c Amount

Febl 800 $6 | $4800
800 6

4 200 7 $1400 200 7 6200
800 6
200 7

10 200 8 1600 200 8 7800
200 7

11 800 6 | 4800 | 200 8 | 3000
200 7

12 | 400 8 | 3200 200 8 | 6200

23




400 8

200 7

200 300 8 2400

e

20 100 8 3800

300
25 100 8 800 100

3200

300

100
600

o e Qo |00 Qe

28 600 9 5400

8600=8600-12400+4800

EX2 : The following operations, occurred in one of the industrial companies, as

follows:-

1/1- The balance of material (X),1000 units, at price 20 dinars / units
10/1 - issue for the production ( 500 units )

15/1 - purchased 1000 units, at price 24 dinars/ units

20/1- issue for the production ( 250 units )

26/1- issue for the production ( 500 units)

27/1 - The material return for the store (300 units) from 26/1

Required : prepare a stores ledger account, and determine the value of balance at
31/12. Use the first — in first — out method. ( FIFO)

24



Solution

Stores Ledger Account- FIFO

Date Receipt Issue balance
quantity | Price | value | Quantity | Price | value | quantity | Price | value
per per per
unit unit unit
1/1 1000 20 | 20000
10/1 500 20 10000 | 500 20 | 10000
15/1 | 1000 24 24000 500 20 | 34000
1000 24
20/1 250 20 5000 |250 20 | 29000
1000 24
26/1 250 20 11000 | 750 24 | 18000
250 24
27/1 | 50 20 7000 50 20 | 25000
250 24 1000 24

" Last In, First-Out Method (LIFO)  : Y3l iy 1)3) 4be 45k 2

AL iy 2 all i sty LYY Jang 3 Jlass unall 165,31 Al e 2yl 3 ol
Tt pall 2 gall s sl DAL (9 5Sa 3sall (e ial) 0 33l Lal 0 3all 5 AL Sl

(s ras J30) 40 i pea s AL Jad Saledl)

Ex3: This example is based on the following transactions: February
(1)Beginning balance: 800 units @ 36 per unit.

(4)Received 200 units @ 87 per unit.

(10)Received 200 units @ $8 per unit.

(11)Issued 800 units.

(12)Received 400 units @ 88 per unit.

(20)Issued 500 units.
(25)Returned 100 excess units from the factory to the storeroon o be recorded

at the latest issued price.

(28)Received 600 units @ $9 per unit.
R)prepare the cost of materials and cost assigned to the ir

wentory at the end

of the month using (LiFo method)

25



Stores Ledger Account - LIFO

Received Issued ~ Balance = v
Unit Unit Unit
Date | Quantity | Price | Amount | Quantity | Price | Amount | Quantity Price | Amount
Feb-| 800 $6 $4800
800 6
4 200 7 $1400 200 7 6200
800 6
200 7
10 200 8 1600 200 8 7800
200 8
200 7 5400
11 400 6 400 2400
- o 400
e 5600
12 400 8 | 3200 400 8
400 8
100 6 300 6 1800
200 e ~ | 3800
300 6
25 100 6 600 100 6 2400
300 6
100 6
28 600 9 5400 600 9 7800

12200+4800-9200=7800

Ex 4.

A- Use data in Ex.2 prepare the Store Ledger Account - based on
Last — in First — Out Method (Lifo).
B- prepare Journal entries .

26




Solution A\\

Stores Ledger Account - LIFO

27

Receipt Issue Balance
Date
quantity | Price | value [ Quantity [ Price | value | quantity | Price | Value
per per per
unit unit unit
1/1 1000 20 20000
10/1 500 20 10000 | 500 20 10000
15/1 {1000 24 24000 500 20 34000
1000 24
20/1 250 24 6000 500 20 28000
750 24
26/1 500 24 12000 | 500 20 16000
250 24
27/1 | 300 24 7200 500 20 23200
550 24
B- Journal entries :
~ 1/1 Notrecord.
10/1 Work in process control a/c ....... 10,000
Materials control a/c................. 10,000
15/1 Materials control a/c ...................... 30,000
Bank a/C ..cocoeveivvivecveveevrenrnnnnnn. 30,000
20/1  Work in process control a/c ....... 5,000
Materials control a/c.......... 5,000
26/1 Work in process control a/c ...... 11,000
Materials control a/c ............ 11,000
27/1 Materials control a/C ....ccoceveveeiinnens 7,000
Work in process control a/c...... 7,000
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ExS: This example is based on the following transactions: February
(1)Beginning balance: 800 units @ $6 per unit.

(4)Received 200 units @ 87 per unit.

(10)Received 200 units @ $8 per unit.

(11)Issued 800 units.

(12)Received 400 units @ 38 per unit.

(20)Issued 500 units.

——{23)Returned 100 excess units from the-factory to the storeroom to be recorded

at the latest issued price.

(28)Received 600 units @ 89 per unit.

R)prepare the cost of materials and cost assigned to the inventory at the end

of the month using (weighted average method).
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Store ledger account - weighted average method

e

Date Receipt Issue E " balance
quantity | Price [Value | Quantity | Price [value | quantity | Price | value
per per per
unit unit unit
Feb-
01 800 $6 $4800
4 200 7 $1400 1000 6,2 6200
10 200 8 1600 1200 6,5 7800
1 800 6,5 5200 400 6,5 2600
12 400 8 3200 800 7,25 | 5800
20 500 7,25 | 3625 300 7,25 | 2175
25 100 7.25 725 400 7.25 2900
28 600 9 5400 1000 8.3 8300

4800+12325-8825=8300

—EX:6 use the information-in-(EX2-) to prepare store ledger account beast on moving - .
average method??

Store ledger account - weighted average method

Date Receipt Issue Balance
quantity | Price Value | Quantity | Price value quantity | Price value
per unit per unit per unit
1/1 1000 20 20000
10/1 500 20 10000 | 500 20 10000
15/1 | 1000 24 24000 1500 22.667 | 34000
20/1 250 22.667 |5667 | 1250 22.667 | 28333
26/1 500 22.667 | 11333 | 750 22.667 | 17000
27/1 | 300 22.667 | 6800 1050 23800
22.667
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Labor element control Jad) AdlST yaic S A ) L
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Fime Rate System i gl Jama ol - |

Piece Rate System dakadl) Jama o)

Incentive Wages plans Ay ukad)) jga¥) ddy sk 3
Time Rate System < gl) Joma a5 - |

_,ih;t,]llr.L...Jl_)_;|d.:..na=:.\:.:ir.3;.1.ﬂ__|_;_,.ql|@M\QJQJLM&USJH!,&@@)HI XY Pt
Jaa s daala Gl e e 3 (e Aima oaal Jualall BliaTud Cosay g sel) gl g sas¥) ) o gl
GL'EEY\ Dlala e ).h.\]lu.a.uc.uan.“ Jdala Jaladl LAL-'AE‘!,:J! BYPv (Y aYl 4l Qlc-hull.\.‘cgj_):_.‘}l
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t N gadl) o 68 Jalall Gadeiad) 83 2 ) J g gk
el ja Java x Lledl) Jaa) Cilelu = Jaladl i)
Examplel: A worker is paid 15$ per hour and he spent 400 hours during a particular
month in a factory. What is his total earning of that particular month¢
A b S b

doblud) o Jara x Adedl) Jead) Cilelu = Jalad) gloadiu)
} total earning of 15X400=A
i
i

that particular M 6000=A

L month?

Example2: James is a direct labor employee who works a stand 40 hours per week.
He paid basic rate $ 15 per hour.
Required. What is his total earning of that particular week*

Solution:
Aol o Jara x 4ledl) Jaad) Clela = Jalad) Glaadia)
15X40=A

total earning of

that particular T —— 600=A

week?

The following are the advantages of the time rate system.

AV Shdal 3 dleuy Aoy (1)
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*This method has the following disadvantages:

Jaladl (o) SV g a1 £ 55 S L3l (1)

Costhaall Jaall jladl 8 Al g Jalad) Jlaat Jlaia) 50y 5 (2)

Al Bay § s (g0 oA 5aY 1 g Jagall pe daall Jalall (5 gy (3)
Ao ghaall ) sa ¥ ol 51 Ml 5 ailall 2 gl Js 30 (4)
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Piece Rate System dakid)) Jana pllai )

kil 2Vl Jie ) sad A il ) ga ¥l labad Gabi il Gany LY 80 3y pabial oas y (5| a5 13
u‘J_-;‘,]l.u.:.\_,_!cMaﬁldbdbjdahﬁwm&])a‘ﬂdmmulcwlan.}.CuSLﬂ

@mdhqa.amuudjl*wlg_di
000 Ustaall i gag Jalad) (Flhaiod ciluda) 23y

dakidll ja) Jara x Aaiial) Gl gl s = Jaladf Gl

Examplel :October Systems manufactures mobile phones, and pays its staff a piece
rate of $1.50 for each phone completed. Employee Jones completes 500 phones in a
standard 40-hour work week. What is his total earning.

SOL:
dakdl) ja) Jara x Aadlal)l Glaa gl 3 = Jaladl (gliadiu)

1.50x500=A
750=A
Example2: A worker is paid 20$ per unit and he produced 50 units in 8 hours. What
is his total earning*

SOL:
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dadadl) jal Jina x Apdiall Glda gl Sie = Jalad) jliadu)

20x50=A
1000 =A

[X] advantages of Picce Rate System:
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® Disadvantages of Piece Rate System :
) SheSl Ll g LIS 450l )l e A s o LY a8 gl Aa i 0 ol (e Jalall J gean p2e-1
gl Jga Jigs pae o Abpall
Aian 0 T3S 1 ) gum sl Lgd 3T g gud o gall HE 352
Ll el e 3t ) Al Cilas gl a0a3 S (o JSLEAI 5553

Sl e .)._I_)J'Sr'lh Cl.\l.r-\_unﬂ.uju"_\,_i:nUJJGEJ#‘CJLC—LJ|wLu1dJ:&L&“J_A‘L_:Lu;gj"c'l_»_,*

3 2l Aadns e Alie Y Jaall e Las ysa) G 255 L 52l 0555 Lo Ll 5 bl Joe o
osb LS Jaball (3liniasd il o g

Zeludl ja) Jia x 4l Janl) cilolu = Jalal) (saaind

__Ex1:An employee works 50 hours in.a week. Her Actual. pay rate is $15.an hour.

and Actual time 40 hours. And that the rate of pay for overtime hours will be on
the basis of 1.5 of the actual rate . What is his overtime and total pay in the

week
Sol:
Aol ol Jara x Lladl) Jaad) Cleba = Jalad) (3laatiul
600=15x40
ALaY) Jaall Aol ja) Jire x ALY Jaad) ilebu = Jalad) (laaiud
10x(15x1.5)
10x22.5=225 overtime
ALaYH il GRaiud) = ) Jalad Gliaiu)
600+225=825

Ex: The actual working hours are (8) hours cne day .the work of one employee 10
hours per day, the rate hourly salary of this employee is $ 2000 per hour . the rate
hourly overtime salary of this employee is $ 3000 per hour. What is his overtime and

total pay in the day?

Sol: Lol jal Jire x Aladl) Jaad) Clobu = Jalad) (glaacil
16000=2000x8
ALY Jarll Ieludl a) Jira x 4l Jand) cilelu = Jalad) (3liail
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6000=3000x2
a4 akl) lhaiad) = S Jalad) (3lhado
22000=6000+16000

Incentive VWages plans : iijiu‘ T2 4ay b3
b Ui je e Jpanll iy aaly ol A WY1y Se 3l ¥l day ) e Apmaadill ) g2l pkai 56
d_l;ra)}_?ldrhﬁigJLan\JUM‘ seaY) akiiy 23V aie o Ll W S5 &5 Gl y Gaw A ) g2 d) oo
_u,;g;uzs,.t,.&,u\,L.;.sémgﬁ,ndgu‘&,hnguwuuk(.ﬁ_a.hn,n ab 3l e 3l elaad
eyl oplelall SIS i pam Lgia inglly Y anall 038 (o 515kl elaY) S sl Ao lgaia

3aad gll 5an gll Aiaidia CallSS M J gua o)l Jilially g LY 3202 5 pelac! el (e

Differential wage (Taylor plan) (otti dbd) Al Y Y )

Jalall sanS (paniay LI 23 g (5 siana 33203 g a5 AS pal) A0 bl e 438 5l 5 5LG 1
| _\_-;QLL,__{;EQ:.Jnc_nh}llmauuﬂl&yﬁ&wﬁlm,ﬁapﬁ;%&vl@o)gé,;ﬂi
.c-\_,_]:::\.“Jahﬂuhii.'m_)ii_,.b;ﬁm&hﬂcﬂfmaiM|ﬁyaymméw_daa.“gﬁ@:.n
c_wtﬁidkm‘éi)ﬁmowﬂhgi Lo it (e J3Y) Jalall aniad Y il gl e (A (A
O\Séi‘&__ﬂ:wwﬁihaﬁyWJySﬂd‘Lg“uilﬂyu:n (&l IS (gl Ll
03 el A e Ayl g 33 3 Agalall 5131 sy o Lty b3 O . Leaiis ) bl 2

Al Alsleal) plaaiuly A4 Hhll o2 (aagay Yl Cludal Jg. oS! 3y Jaall Jandall Jalall c._n..ﬁ_,

Lowilixsant ol 5as gl (g jbmall Ja¥) Jina x Jalad) Lgaiil A U AaS =Jalal) 3laadiu)

The standard wage rate per unit =" wages rate Dollars /hour

Standard tifne units / hour

Example : the following Industrial Company particulars, what is his total

earning of workers A and B:

e Standard time: 20 units per hour
e Normal wages rate: 30$ per hour
e The company has decided to use the Taylor plan to pay wages, as follows

-%800f piece rate when below standard
-%]1200f piece rate at or above standard

e Ina particular day of 8 hours,( A) produces 140 units while (B) produces 165
units per day.
Solution:
The standard wage rate per unit =  wages rate Dollars /hour
Stéufd%ﬁi m_e- u:;i- ts/ hour
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30% /hour
20 units / hour

1.5 % /Unit
a5l Clelull ¢ gana x debull las gl dae= aal gl o gall (g Ll ZLSY)
asdl J2& 3as 5 160=8x20
Tpllgaan gl 5as gl g lanall 2 Y1 Jane xbolall Lgaiit 1 Y1 S =(Jalal) Blinia
workers (A) = 140x1.5x80%= 168 $ total earnings of workers A

workers (B) = 165X1.5X120%=297$ total earnings of workers B

Example: the following Industrial Company particulars, Available During one day:
what is his total earnings of workers y and Z in the day?.

¢ Standard time: 10 units per hour
o Normal wages rate: 2% per hour
o The company has decided to use the Taylor plan to pay wages, as follows

T 770 %of piece rate when below standard”
-120% of piece rate at or above standard

* In a particular day of 8 hours,( z) produces 70 units per day while (y)
produces90 units per day.

Halsev method () Oula 43y )k :l,.l:ll.:l
sy, Opae dae o jladl die Jigall Caf gl Ciai el Jalad Lpapa S5 508K Jualall e 5353
A Al plasiuds 43y plall 038 an ey 2 ¥ Oludal

(%50 * @3ie ) Y Jaa * awaiial) Cl gl galfie VI gl ol = sa¥) Ga dalall Gliatad

example: The production Actual time per day for a company is 8 hours and the rate
of one hour is 10$. The standard time for the production of one unit is 2 hours. If a
worker produces 5 units during the day. Required :what 1s his total earning for the
Ahmed worker in the day using the Halsey method.
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SOL.:

Standard production time S units * 2 hours = 10 hours

-Actual time during the day = 8 hours
~Time saved Msailall i gl =2 hours

50 * glie Sl Jana * aualiall i gll) + gkie Y gl el = Y e Jaladl Blisdiul
=(8*10)+(2*10* 50%) = $ 90

(0,'0

Rowan Method OV Al b BIG
< g 2 3 ol Ll g B e gl gl o Jalall sl o e (gull.h)unhfﬁg)blu}i‘@J
Al Al alasiuly dg Hhall 028 g Yl Gl ?TEJ-J;}‘H

*{Lﬂnc,s,n*(Lﬁjwt;agm/wicjjn)ﬂ_;agwicé,llﬁ|=ﬁmg,.¢w1gm1
Aelddl jal Jaee

example: The production Actual time per day for a company is 8 hours and the rate
of one hour is 10$. The standard time for the production of one unit is 2 hours. If a
worker produces 5 units during the day. Required :what is his total earning for the

Ahmed worker in the day using the Rowan method.

Sol:
* Aaill Qﬁ).l!*(__;_)L_a.ollﬁﬁjll/a.a'.iiaﬂQEJJI)+L‘5.JL_.,\'39Y'|Cﬁ}.\lﬁlz_}}yl&qd‘\hﬂjﬁﬁul
bl jal Jaea
= (8*10)+{(2/10)*8*10}
=96%
Adbll oy X

Basic wage rate per

I:X: The following Industrial Company particulars
Actual time taken 36

hour 10.80%, Time allowed for the job — 48 hours,

hours. using the Halsey& Rowan method what is his total earnings of a

worker.
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controlling on manufacturing overhead
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production control &Yl S )al e
services production center 4ali¥! Gleasll S5 o
_services marketing centers 4 gudll Sleadll S ye @

36



services finance and Administrative 4l saill 5 4 1Y) Clasall 581 50 o
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dalisy! 381l e JS 6 pdliall e Gelicall CyllSill jualic syiaiy juas (il
Sl oia agand y yasd Lage Ll Sy bl s WY Glaas
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:(Estimated basis) 4 830 ulad) o
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Example/ factory consists of three cost center and includes information the

following.

Details Center. A Center. B Center. ¢
Number equipment & 6 9
Worker wages$ 75000 75000 150000
Number workers 70 140 210
Value equipment 15000008 3000000% 9000000%
Space 240 300 360
value of matenals 17000 16000 26000
Number light 8 10 12
Direct labor hours 50 60 90
Power(KW) 100 1500 2500

And the factory overhead for this center were as follows:

- Lighting 3000008, Rent 750008, power 900008, Transport 59000, insurance for
crash labor120000, Labor compensation 500008 Lubrication and greasing
machinery18000%,medical service 1500008,salaries for supervisor 200000$.
R/prepaid distribution for this costs on center (A,B,C).

Solution:
I —  Distribution for this costs on center (A, B,C): S
Details Dis . basis T.F.O.H | Center | Center B | Centerc
LA
Lighting Number Light 300000 80000 100000 120000
Rent Space 75000 20000 25000 30000
power Number equipment 90000 15000 30000 45000
Transport value of matenals 59000 17000 16000 26000
Insurance Workers labor 120000 30000 30000 60000
Labor Worker wages 50000 12500 12500 25000
compensation
Lubrication and Number equipment | 180000 30000 60000 90000
greasing
machinery
Medical service ‘| Number workers 150000 25000 50000 750000

supervisor Direct labor hours | 200000 50000 60000 90000
salaries
Total f.0.h 1224000 | 279500 [ 383500 561000

*Lighting =300000 $
Dis .basis = Number light for this center = 8+10+12=30
Center .A= 300000 * 8/30=80000$
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Center .B= 300000* 10/30= 100000$

Center .C=300000* 12/30= 120000%
e J00000%

*Rent Cost = 750008

Dis . basis = Space =240+300+360= 900M2

Center .A=75000* 240/900=20000%

Center .B= 75000* 300/900=25000%

Center .C=75000* 360/900= 30000%
T 750008

*Power cost = 900008

Dis . basis = No. equipmenF3+6+9= 18

Center .A=90000 * 3/18=15000%

Center .B= 90000+ 6/18=30000$

. Center .C=90000* 9/18=45000% . _ .
90000$

Transport for materials/cost = 590008

Dis . basis = value of materials=17000+16000+26000=59000%
Center .A=59000* 17000/59000=17000$%
Center .B= 59000* 16000/59000=16000%

Center .C=59000* 26000/59000=26000%
59000$

Insurance for crash labor/cost = 120000$

Dis . basis = Worker wages=75000+75000+150000= 3000008

Center .A=120000 * 75000/300000=30000$

T

r

Center .B=120000* 75000/300000=30000%

Center .C=120000* 150000/300000= 60000$
1200008
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Labor compensation/cost = 50000$

Dis . basis = Worker wages=75000+75000+150000= 300000$
Center .A=50000* 75000/300000=12500%
Center .B= 50000* 75000/300000=12500%

Center .C= 50000* 150000/300000= 250005
— S0000%

Lubrication and greasing machinery/ cost = 180000$

Dis . basis = No. equipment=3+6+9=18
Center .A=180000* 3/18=30000%
Center .B= 180000* 6/18=60000$
Center .C= 180000* 9/18= 90000$
Medical service/ Cost = 1500008

Dis . basis = No. workers =70+140+210=420
Center .A=150000* 70/420=250008
Eente; :B= 1;0000* 140/'420':5000%' |
Center .C=150000* 210/420= 7500003
1500008

supervisor salaries /Cost = 2000003
Dis . basis = Direct labor hours=50+60+90=200H
Center .A=200000* 50/200=50000%
Center .B=200000* 60/200=60000%
Centzr .C=200000* 90/200= 90000$

2000008

sAaliy) S sall o draadd) 38 yall LSS ag 95 B2 )-3

S al asen e (Aalall) 48 itiall 5,8l e duclicall Call Sl ay 58 ad O aa
e Al Sleadll 380 50 CallSi a5 AlSH il 2 s (2 UBY) laad 5 Balisyl)
2 eliall sl el (W daa sl 5 13g0 5 | i Wana ) muad aliy) S )
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Jaaaill Jine plaaiunly dpiiall s g e Long 358 iy Laliil 38 y0 JSI5_pilaal
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Total allocation method (Full total)  (AS)) (Jas¥l o) 5l 48 4 -]

Single allocation method (Direct) (5 dluall) g3l a5V a5 5l 43y 5k -2

Step allocation method (step- Down) (idll) o a5l 44 )b -3
Reciprocal allocation method (Algebra) Joldll a5 5l 43 )b -4

:Total allocation method (Ful total) (SV) Mea¥) 568 44y )b -1
AaliY) claaall 381 pe CallSill aant Lgan ga oy Ciga (b plall Jgmasl (5o A 5l 03a 203
Lgany p223 daadll HSIall Gl adalade ag )il el plasduly L2l SI el e a5

ol
Ex/ The followmg information pertam industrial company.

Details ~ Productioncenter | Production service center | Total

; 1 2 3 4 A B C
F.o.h 25000 15000 22000 30000 10000 5000 3000 110000
Machine 200 300 200 100 50 50 20
hours work
SPACE 500 1000 500 700 300 200 50
Number 30 50 100 120 20 20 5
equipment

R/ prepare a factory overhead distribution Production service center on
Production Center According to the Total allocation method (Full total
method) using Machine hours work as the basis for the distribution of

the way?
Sol:

Factory overhead distribution using Total allocation

method
Details Production center Production service Total
center
1 2 3 4 A B C

F.o.h 25000 | 15000 | 22000 |[30000 [10000 [5000 [3000 | 110000
Dis.F.o [4500 [6750 [4500 [2250 [ (10000) |5000) | 3000)
.h ( (
Total cost | 29500 | 21750 | 26500 | 32250 |0 0 0 110000

Total F.0.H= 10000+ 5000+3000=18000SFor production services center (A.B,C)
Dis . basis = Machine hours For production center =200+300+200+100= 800H
Dis. Cost =

Center .1=18000* 200/800=45005
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Center .2= 18000* 300/800=67505

Center .3= 18000* 200/800= 45005

Center .4= 18000* 100/800= 22505

180005

| r‘.g) @),:JJ Jas) 4 Lol A3y ylall 028 Jieaadul -1
Ll e JS BoliGul (gae jLie YL sl -2
Agaliy) Sleasdl 81 el G Adaal Sleadll el 5o -3

(o

g Laa AS1 of L Ayl SI el Jaad 38 a5l 3 Alaall pre ) A 1 3l -4

3 ypiall SIS a8 AL Hhall 538 aaalS -5

:Single allocation method (Direct) (3 y&bual) 31 AN g0 )53l 43y )b-2

\_lu.:s(.l:ass) :l:!;tuy‘ _)S‘JAM(_AG L:Alj.l‘ | PRER )SJALJS@J}:!PE;}:LQ‘)LM 0JA (2 gau
JS dabs 3|Jja]‘; Aaaall danb e YL 2alG Ll 5«33)1::]‘ oda Hiad a._u\d_x“ ‘)S'l‘).oﬁ LL}EJS.“
o L sl Of lple (ilagy oand S 5e JS0 anl g Ll padiod Ledl LS (add S e

- Lgie s (5S35 Ll (gAY Apeaadl 381 5al) ()90 o Y 3S) all

— —Fx/The following data pertained industrial company. ~~

Details Production center : Production service center Total
1 2 3 4 X y z m

F.o.h 50000 | 10000 | 75000 |25000 | 2000 8000 | 10000 15000 | 28500

0

Number 30 20 30 10 5 51 5 10

equipment

SPACE 1000 400 600 100 50 200 150 200

Machine 200 300 300 200 50 100 50 |-

hours

power hours | 200 200 100 100 - -— --- ---

R/ prepare a factory overhead distribution using Single allocation

method (Direct method) as follows :
- center .X distribution to basis Number. equipment.
- center .y distribution to basis Machine hours.

- center .z distribution to basis SPACE
- center .m distribution to basis power hours
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Sol:

factory overhead distribution using Single allocation method (Diveet method)

Details Production center Production service center |Tot
[ 1 2 3 4 X y z m al

F.o.h 50000 10000 | 7500 2500 2000 8000 10000 15000

0 0 0
Dis. X 667 444 667 222 2000) — - -

(
Dis. Y 1600 2400 2400 1600 0 8000) —— -
(
Dis. Z 4762 1905 2857 476 0 0 (10000 —
)
Dis. m 5000 5000 2500 | 2500 0 0 _— 15000)
(
Total F 60028 10924 | 8542 3029 0 0 0 0
.0..h 9 4 8
Jiieua JS8 (add S ya JS o) g a®
Center .x Cost =2000%

Center .1=2000* 30/90 =667$
Center .2=2000* 20/90 =444$
Center .3=2000* 30/90 = 667%
Center .4=2000* 10/90 =222%

20008

Center.y _ Cost = 8000%

Dis . basis =Machine hours =
200+300+300+200=1000h

Center .1=8000* 200/1000 =1600%
Center .2= 8000* 300/1000 =2400$
Center .3= 8000* 300/1000 =2400%

43
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Center .4= 8000* 200/1000 = 1600$%

8000%

Center .z Cost = 10000$

Jaid Agaiiy) 390 jall dablucal) pand
Dis . basis =SPACE = 1000+400+600+100=2100m2
Center .1=10000* 1000/2100=4762%
Center .2= 10000* 400/2100=1905%
Center .3= 10000* 600/2100= 2857%

Center .4=10000* 100/2100=476%

10000%
Center .m Cost = 150008

Jad iy 3S) pall AUl Cilelu gans
Dis . basis = power hours = 200+200+100+100=600h
Center .1=15000* 200/600=5000%
_ . ____Center .2=15000* 200/600=5000%_
Center .3=15000* 100/600= 2500%
Center .4= 15000* 100/600= 2500%

150008 %

Alaa V1 Al 3553 sall el Ay 5Ll w38 el -]

Gualiall eba¥) il g LalEY) Gleadl 381 je (e dediall laasll 45 Hhll o8 el 55 -2
205l

3aclue g Cleadll apadi ga Apaliy1 3S) yell dpuli) dahs g ol ase e &5 Hhall oda 2485 -3
Aaaliy! S)

Ablaly 43 Hhll oaa liai -4
Al Ll ey 4aliV) Gleadd) 31 el G Al daasdl dadles 8 Jddll L e e
oand Lpuan (pe Aa i) Cleaadl SI ye dpitad O dllaial el 53
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:Step allocation method (step- Down) (i) Ul oy ;i 4y b3
LaliY1 Sl (e 83 yila s ) yamy poih 58 y0 IS CallS a5 55 2y Sl 0in an yao oy
AaliV1 Glasall 581 pa g i (N Ay plall 03a pliady i saliial 30 g a1 dpanal
Al SSal a5l Aglee 1oy @) gl elasl 9 a1 (5 a3y I s UK
b @Al JSpall @ sl G dguad let iy 2SS 5l gl 581, e s 480 pasy g3
i (i 138y gy AN S sall o SS1 pall Wy A Clasdd) dguss of 80 1 sie e
O Al Qadl aails 3S) pa 3 g Al by 5SIpall lass Jil asiy ) dasal) 5 s dglaal
JEY) 5 81 4SS5 (A 380 sl 4SS a5 58 Doy O AN Cailana e 20l S0 4

18%a g JaY5

Ex/ company has production center 1,2 and production service center
A,B and the following data.

Details Production center | Production service| Total
i e : center
1 2 A B
F.o.h 150000 100000 10000 15000 275000
Machine hours 3000 2000 1000 -—_ 6000
power hours 1500 3000 —- 500 5000

R/ prepare a factory overhead distribution using Step allocation method

~(step- Down method) as follows. - -

Center .A distribution basis power (Kw)

Center .B distribution basis Machine hours.

]

Sol/
factory overhead distribution using Step allocation method (step- Down method)
Details Production center | Production service | Total
center
1 2 A B
F.o.h 150000 100000 10000 15000 | 275000
Dis . B 7500 5000 2500 ( 15000)
T. cost 157500 105000 12500 0
Dis. B 4167 8333 | (12500) 0
T. cost 161667 113333 0 0] 275000
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500kw

il gﬁ g 5000 kw '
ATE17% Lpnig( A ) IS a0 p339(B) SS0a O
1000h =17%
6000h
H(A ) Sl &(B ) S5l wa)s eadl) by 4sle
Center .B

Cost = 15000$
Dis . basis =Machine hours  (A,1,2)JS) 4l (ilsal) Clelu pand

= 3000+2000+1000=6000h

Dis .cost=
Center .1=15000* 3000/6000=75005 B
Center .2= 15000* 2000/6000=5000% 1/1\‘ A
Center .A=15000* 1000/6000= 25005 2
150005
_ Center.A .

808 Gady odlEu) La gaa g (B) JSuall (e B3l dpud 33 ade Aliada a1 (A ) IS sal) auss die
. badd 4aliny) 39) yal) o day g3 ol Ll g (B)
Cost = 100005+ 2500= 125005
Dis . basis = power hours k8 LalN) j8) yall AUl Clelu gaad
=1500+3000=4500kw A

N,

Dis .cost=

Center .1=12500* 1500/4500=41675

Center .2=12500* 3000/4500=83335

AL 5kl Ll g o
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Ex. The following data in one industrial company.

Details Production center Production service Total
center
1 2 3 A B C
F.o.h 48000 42000 | 30000 | 30000 | 18000 12000 | 180000
power (KW) 12000 21000 | 18000 | 5400 | --- 3600
Machine hours 20 30 30 -—- 10 10
No. equipment 50 50 50 20 20 20

R/ prepare a factory overhead distribution using_Step allocation method (step-
Down method) as if .
-The distribution basis for Center .(A) is Machine hours

-The distribution basis for Center .(B) is- power (KW) -

-The distribution basis for Center .(C) is No. equipment

:Reciprocal allocation method (Algebra

s ay LoalmY) 38 all Lo Aaliy) cilerall 81 e CallSS w558 8 Aeadieedl 5kl 330 e a3
S e S0 AaliY) laaddl 50 s G AL ilarill Jala Y a5 A6l 3k L 2 gall ) gl
LS5y ST A EY) larall 31 e 35 Cum Kpadll g LYY S el e 4iNSE § 555 ard
A e S e LN A5 ) 8 w55l o edi A5 Hhall oda oy (5 )30 0 e Asaddll SI Al
s 13gd 56yl @lla § AaliiYl cilardll 81 s o ileadll Jals dsa g aa SI el

ol ) il A3yl -

ol a sl A
ol gl aladiad &6 Hhall o3ed a ) sill S

Ex/ company center production centerl,2 and production service center E,F and
the following data.

Details Production center Production service Total
center
1] 2 Al B
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F.o.h 15000 20000 8000 10000 53000
Advantage from .C.B 50% 40% %S
Advantage from .C.A 60% 30% %$ | -

R/ prepare a factory overhead distribution using_Reciprocal allocation method (Algebra
method):

sol:
F Sl (a Adeas + E 4AIS =A o
E JS all Oa Aas 4 F S 5al) AdIS =B (0 ii
A=8000+10% B  ----- s
B= 10000+ 10% A -------. 2
1)ad) Dalaal) A 2 gailly

A= 8000+ 10%(10000+10%A)
A=8000+(1000+0.01A)
A=9000+0.01A

9000=0.99A
o A=% =9091$

On 40 dos Lo 3K 5318

35l e 43l Gl L 9091-8000=1091

(2) i Askeall b Gy sl

B=10000+10%A

B=10000+(10%*9091)

4ilsg B=10000+909=10909

S el Capsal Le e 3

F :10909-10000=909%

Details Production center Production service Total
center
1 2 A B
F.o.h 15000 20000 8000 10000
Advantage from .C.A 1091
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_ Dis.cost=

Advantage from .C.B

909

T. cost

15000

20000

9091

10909

Center .B

Cost = 10909$

Dis . basis = 50%,40%

Dis .cost=

Center .1=10909* 50%=54555

Center .2= 10909* 40%=43635S

10909$

Center .A

Cost = 9091S
Dis . basis = 60%,30%

Center .1=9091* 60%=5455%

Center .2=9091* 30%=2727S

Aald 4palily) 3S) pal) o Ageddd) 3S) ) ag s Ny A

9091$
Details Production center Production service Total
center
1 2 A B
F.o.h 15000 20000 8000 10000 53000
Advantage from .C.A 1091
Advantage from .C.B 909
new. cost 15000 20000 9091 10909 53000
Dis. F 5455 4363 ———- (10909)
Dis. E 5455 2727 (9091) 0
T. cost 25910 27090 0 0 53000

EX :Industrial company consists of production center A,B and production service

center x,y and the following data:
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Details Production center Production service Total
center
: A B X y
F.o.h 90000 60000 3000 15000 | 195000 |
Advantage from .x 40% 30% ?
Advantage from .y 40% 40% ? o
machine hours 15000 7500 7500 -

R/ prepare a factory overhead distribution using the Reciprocal allocation method
(Algebra method).
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Ex/Below is the data for one of the production centers of one of the industrial
companies made during 2016

- Direct materials cost = 1200005

- Direct labor cost = 160000

- Other expenses cost = 160005

- Product unit = 160000unit

- Direct labor hours = 240000h

- machine hours = 16000h

-Total Factory overhead cost for the production center240000S.

R/prepare applied Rate for Factory overhead cost based on:1.Number of units
produced.2.Cost of direct materials.3.Direct labor cost.4. prime cost. 5. Direct labor

hours. 6. machine hours.
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Sol
applied Rate F.0. h

F. o. h rat( production unit)= f::::;:::)]z =15 $/u

_240000 -
Rate f.o0. h(D.M) S 100=200%

F. 0. h Rate (D.L)= f;g;’gg: x100=150%

i _240000$ i
F. o. h rate from prime cost = SEDOD X100%= 81%

F. o. h rat(Direct labor hours)= :::333: =1$/h

F. 0. h rate(machine hours)= 12::333:=15$/h

Q: Below is the data for one of the production centers of one of the industrial

companies made during 2017

-Total Factory overhead cost for the production center100000S.

- Product unit = 50000unit.

- Direct materials cost = 2000005
- Direct labor cost = 1200005

- Direct labor hours =120000h

- machine hours = 100000h

- Other expenses cost = 300005

R/prepare applied Rate for Factory overhead cost based on:1.Number of units
produced.2.Cost of direct materials.3.Direct labor cost.4. prime cost. 5. Direct labor

hours. 6. machine hours.
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